

GRDSCH540/WI20
Breakout Room Discussion of Session 7 Exercises

In each of your groups, you’ll be discussing the Session 7 exercise questions. 

First, decide which roles each group member will fill:

[bookmark: _ud89bhmy4h4f]Roles:
Moderator - helps facilitate the conversation and encourages equitable participation 
Timekeeper - keeps the group on track
Note Taker - takes record of the group’s discussion in this Google doc (see below).
Active Participant – engages and contributes to the discussion.
Reporter - presents the group’s solution to the whole class when we regroup.

[bookmark: _lnermlwps61h]Before you begin to answer the exercise questions:
1. Introduce yourselves briefly.
2. Assign roles and record them below. Try to take a different role than last time.
3. Discuss the question(s) assigned to your group and note your answer.
4. Next, discuss other questions from Session 7. You won’t need to present these to the class but can use this time to compare answers to the other Session 7 questions. 
[bookmark: _ssl38urxdxog]

[bookmark: _cskia43ormi4]
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Roles:
· Moderator - 
· Timekeeper - 
· Note Taker - 
· Reporter -  
· Active Participant - 

Question(s) discussed:
· 

Solution to assigned question:
· 

Any question you want the whole class to discuss/answer?
· 

A different question discussed:
· 

Notes:
· 





Session 7 Exercises

1)  What does H0 predict we would observe in the first 3 columns in this case?
	
	Daily # cigarettes

	
	None
	< 5
	 5-14
	15-24
	25-49
	50+
	Total

	Cancer
	
	
	
	
	
	

	700

	Control
	
	
	
	
	
	

	2100

	Total
	68
	184
	1059
	etc
	
	
	2800



2) Compute the estimated RR and a 95% CI for the Pauling dataset
	
	Cold - Y
	Cold - N
	Total

	Vitamin C
	17
	122
	139

	Placebo
	31
	109
	140

	Total
	48
	231
	279



3) Compute 2, the estimated OR and a 95% CI for the Keller dataset
	
	Case
	Control
	Total

	Smoker
	484
	385
	869

	Non-Smoker
	27
	90
	117

	Total
	511
	475
	986


4) Compute 2 and the estimated OR for the Drosophila dataset
	
	male
	female
	Total

	red
	165

	300

	465

	white
	176
	81
	257

	Total
	341
	381
	722








